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Efiz BFL P +/- 1R OUT IN IEfiz BEFL PR +/- 1R OUT IN
* 1 HFRPE e -4 68 (33 35) * ik Him HGA +10 82 (40 42)
* 2 HhEL FEOEGC 2 70 (35 35) * this pE— HGA +10 82 (42 40)
*x 3 HEB® EQHGC -1 71 (37 34) * HFRNRF EQHGC +10 82 (40 42)
*x 4 FaES =700 +0 72 (37 35) * EEARR #Hth FECC +10 82 (44 38)
*x 5 B[R T Y-I0 -3 GC +1 73 (37 36) * 45 kB E LBGC +11 83 (41 42)
*x 6 HP—F [ 3RARCC +3 75 (39 36) * 46 Bl 5] B%CC +12 84 (42 42)
*x 7 [HE¥ =/ICC +4 76 (38 38) * it KAk FEOEGC +12 84 (42 42)
* M K ZECC +4 76 (40 36) * Bl Bz FHEGC +12 84 (42 42)
* IR 25 EEiECC +4 76 (38 38) * 49 HH Fi&Ep RBGC +13 85 (41 44)
* ESip WAt HGA +4 76 (39 37) * =H % ILEBCC +13 85 (42 43)
* mE w2 EBEBRGC +4 76 (38 38) * B BB |cc +13 85 (41 44)
* 12 HE EHB EBEBRGC +5 77 (40 37) * =Eaae FEDEGC +13 85 (46 39)
* ET EfE IEEFECC +5 77 (38 39) * Tl K3z IEEERGC +13 85 (41 44)
* K BIE# #BETICC +5 77 (39 38) * A& 1EFA HIE#ACC +13 85 (41 44)
* Bl —F NFfCC +5 77 (38 39) 55 B0 NE& JEDEGC +14 86 (42 44)
* 16 BAXf— EBECC +6 78 (40 38) AZUE BE— FIEGC +14 86 (44 42)
* =15 BaA EEIEGC +6 78 (37 41) 5 T wRSHA +14 86 (45 41)
* WA thE IEEERRGC +6 78 (40 38) A IEEERGC +14 86 (45 41)
* ik K22 Ei8GC +6 78 (40 38) AE MR AHBCC +14 86 (41 45)
* R 1ERK IEBHIEECC +6 78 (36 42) 60 REY sLhER EEERGC +15 87 (45 42)
* Sl Kth HGA +6 78 (41 37) 61 #EL fi@— f&ice +16 88 (45 43)
* PaR B%E I=B{fEECC +6 78 (40 38) S 1658 EDEGC +16 88 (47 41)
*x 23 ifRAK K& KBGC +7 79 (39 40) A 7834 FRHEGC +16 88 (50 38)
* SalA HgZe TREBHIEECC +7 79 (39 40) A 252 IEOHRGC +16 88 (47 41)
* SE BN HGA +7 79 (36 43) MR 8% LSHIFECC +16 88 (44 44)
* KO 8= I=EBCC +7 79 (40 39) BN AE FECC +16 88 (45 43)
*x 27 —H =B IN=Tiilee +8 80 (40 40) 67 TR FH TIRCC +17 89 (46 43)
* ¥E 52t BIEACC +8 80 (42 38) E =1 = LEERGC +17 89 (47 42)
* LU= AE ILEHIEECC +8 80 (42 38) 69 AR EEE LEGC +18 90 (43 47)
* Hf —& BRLECC +8 80 (39 41) [FH 8= FECC +18 90 (46 44)
* 31 BARES SEBERCC +9 81 (39 42) 71 RO FA IEBAHECC +19 91 (46 45)
* A % B ERIRCC +9 81 (42 39) A £ SEXER HGA +19 91 (43 48)
* BkH HEHR EEERGC +9 81 (39 42) x5 & ILECC

* TH KM FEDEGC +9 81 (41 40) =g RO R HGA

* = =Ioe +9 81 (39 42) xR I\Eg B2 EEEREGC

* I 1= LE%ZEGC +9 81 (43 38) xig SRR AR LEEEGC

* INSFIR ZE3A BRILECC +9 81 (40 41)

* 38 MARZEL =ECC +10 82 (41 41)

* WS s IRCC +10 82 (42 40)

* HITBERES RECC +10 82 (39 43)
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